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READING PASSAGE 1

You should spend abowt 20 minutes ot Questions 1=13. whick are based on Reading
Passaga 1 below

Attitudes to language

[1 i Tt easy Lo be systematic and objective abouwt langage study. Popular lingoistic debae
regularly cleletivrates into invective and pelemic. Language helonps ro eveevong, so rmasl
poople feel they bave a right to held an opinion aboucic And when opinions diifern emetions
can run high, Argumencs can start as easily over mino points of usage as over major policies
of linguistic education.

Language, marcoven, 150 very public Tehaviour, so it is easy for different usages to be noted
and criticised. No par of society o soclal bebaviour is exernpt: linguistic factors influence
hiw we judge persomality, indelligeoage, social staus, educational standards, job aptitude,
and many other areas of idennly and social sucvival. As a result, it is easy o hurt, and ta be
huet, when language nse B unfeclingly aacked,

Lo its musl generdl sense, prescriptivism is the view thag one varicty of langoage bas an
inharently higher value than others, and that chis onght to be imapaosed oa e wlhole of

e speech community, ‘Lhe view is propounded cspecially inoeelation o grammac ancl
vocabulary, amd frequently with reference to promnciatinn. The vaciety which s Favooared,
it this aceoeunt, is usuwally 8 version of the standard’ written lanpoage, cspoecially as
encountered in literature, o1 in the formal spoken language which most closely rellects this
slyle, Adberents to this variety are said to speak ot write ‘correcrly’; deviations froo il are
saicl o be incorrect,

All the main Janguages have been studled prescriplively, especizlly in the 18th centuny
approach fa the writing of grarnmears and dictionardes, The aims of these early granvmarians
were threetold: [a) they wanled w codily the principles of their languages, to shiow that
there was a system bencath the apparent chaos of usage, (b they wanced a means of
settling disputes over usage, and (o) they wanted w point out what chey felt to be common
errors, in ordet (o ‘tmprove’ the language. The authoritariun natare of the approach is hest
charactenised by ies reliance an ‘rules’ of grammar, Some usages are ‘prescribed; o he
learnt and nllowed acourately; athers are "proscribed; to be avoided. In this early period,
there were ni half-meastres: usage was cither right or wiong, and it was the task of the
gramimarian oo simply focrecord gltemalives, bt 1o pronounce judgement upon them.

These attivdes are still with us, and they motivare a widespreead concern Ltha linguistic
standards should be maintained. Mevertheless, there is an alternacive paind of view that
15 concerined less with standards than with the jacts of linguistic usage. This appooach is
slrrmaris el i the statement that it is the task of the grammarian to describe, nor greesorihe
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—ter record the facts of linguistic diversity, and not to attempt the mmpossible tasks of
evaluaring language variativn ur balting language change, In the second hall of the 18th
cenmry, we already find advocates al this view, such as loseph Priestley, whose Ridintents
af English Gravesrar (1761 insists thal " the custorn of speaking is the original and anly

just standard of any Janguage! Linguistic issoes, if is arpued, cannot be sulved by ngic

and Ieeislation. And this view has becenie the tenet of the madern linguistic approach fo
grarmmnatical analysis.

L1 aur ow tine, e opposinon herween ‘descipuivists” and 'prescriptivises’ has ofien
become extretng, wilh bath sides painting uaneal pictures al the other. Descriptive
gramumarians have been presented as people swho do net cure about standards, hecause
of the wav they see all forms of usage as equally valid, Prescriplive grammarians have
heen presented as blind adherents to a histovical tradstion, The apposition has even been
presented in quasi-political terms - of radical liberalism vs elitisl conservatism.
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Questions -8

Do Lthe fallowing statements agree with the claims of the writer in Reading Passage 17

in boxes 1-8 on your answer sheeal, whife

o -~ h U1 e

YES if the stafement agrees with the claims of the wriler
NO if the statement contradicis fhe claims of he writar
NOT GIVEN if it is impossitle fo say what the writer thinks about this

There are understandable reasons why arguments occeur abaut languages.

People fesl more strongly about languagea education than about small differences in
language usade.

{ur assessment of a person's inlelligence is affected by the way he ar she uses
language.

Prescriptive grammar books cost a o1 of money 0 buy in the 18th cantury.
Prescriptivism still exists today.

According to descriptivists it is pointless la Iry to stop language change.
Descripliviemn only appeared after tha 15th cantury.

Baoth descriptivisls and prescriptivists have been misrepresanted.
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Questions 5-12
Complate the summary using the list of words, A=l below

Write the correct lelter, A=l it boxes 5—12 on vour arswear sheet.

The lanhguage debate

Accordingto B, .. . .., thera iz anly one carrect form of language Linguists who take
this approach to language place great importance on grammatical 10 ... .
Conversely, the view af 11 ..., such as Joseph Priestley, 1= that grammar shauld
be hasedon 12 ... .. .. :

A  descriptivists B language experts C  popular speech

D formal language E evaluatlioh Forules

G modern linguisls H prescriptivists I change

Question 13
Choose the correct lefter &, 8, C or D,
Write the corract fatter In box 13 an your answer sheal,

Whal is the writer's purpose in Reading Passage 17

A toargue in favour of 8 paricular approach to wrting dictienaries and grammar
books

to present a historical account of differing views of language

to describe the diferences between spoken and written language

to show how a3 cedain view af l[anguage has been discredited

oOm
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READING PASSAGE 2

You should spend abow! 20 minules on Questions T4-26, which are based an Roading
Passage & helow.

Tidal Power

Undarses turtwnes which produce electricity from the bdes are set to
hernrne an important source of renewsble energy for Britain, It s sl Lo
early ti predict the extent of the impact they may have, but all the signs are
that they will play 8 significant role in the future

A Operating on the same prnciple as wind turbines, the power in sea turbines
comes from tidal currents which turn blades similar to ships' propellers,
but, unlike wind, the tides are predictable and the power input is constant.
The technology raises the prospeck of Britein becoming self-sufficient in
renewable energy and drastically reducing its carbon dioxide emissions. |If
Lide, wind and wave power are all developed, Britain would be able to close
nas, coal and nuclear power plants and export renewable power to othar
parts of Europe. Unlike wind pawer, which Britan originslly developed and
then abandoned for 20 years alowing the Outch to make it 8 major industry,
undersea turbines could become a big axport earner Eo island natans such
as Japan and hew Zealand.

B Tidsl sites have already been identified that will produce one sixth or more
of the UK's power = and at. prices competitive with maodern gas turbines and
undercutting those of the already ailing nuclear industry. One @ite alone, the
Fentland Firth, between Orkney and mainland Scotland, could produce 1004
af the country's electricmy with banks of turbines under the sea, and another
at Alderney in the Channel lelands three times the 1,200 megawatts of
Britain's largest and newest nuckear plant, Sizewell B. in Sufolk, Uther
gices identified inchide the Bristol Channel and the west coast of Scotland,
particularly the chapnel between Campbeltown and Morthern reland.

C  Wark on designs for the new turbine blades and sites are well advanced
at: the University of Southampton's susLainable energy research group. The
first station is expected to be installed aff Lyrwnouth in Devon shortly to
test the technalogy in & venture jointly funded by the department of Trade
and Industry and the European Union, AbuBakr Bahaj, in charge of the
Seuthamplon research, said: 'The prospects for energy fram tidal currents
are far better than from wind because the flows of water am predictable
and constant. The lechnology tor dealing with the hostile saline environment
under the sca has been developed in the North Sea ol industry and much
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i5 already known about tirbing blade design, bacanse of wand power and
ship propellors. Thore arc @ fow techpical difficultics, bue | beliove in the
next five to ten years we will he installing commercial manne turbine farms.”
Southampton has been awarded £2 15,000 over three years to develop

the rurbines and is working with Marine Current Turbines, a subswdiary of

IT praver. on the Lynrmouth project. EL research has now identifed 106
potertial sites For tidal power, BOW: roond the coasts of Betain, The hest
sites ara bebween islands or around heavily inderked coasts where thera are
strong tidal currents,

A marine turbine blade needs tao he pnly one third af the sirFe of A wind
gencrator ta produce three times as much power. The blades will be about
2 metres in digmeter, g0 around 30 metres of water is reguired. Unlike
wind pawer, there are unlikely to be enviranmental objections. Fish and other
creatures are thought unlikely to be at risk from the relatively slow-turning
blades. Each turbires will be mounted an a Loseer which will connecl. to the
national power sepply grid wia underwater cables. The towers will stick oot of
the water and be lit, to warn shipping, end also be designed to be Iifted out
of the water for maintenance and to clean seaweed from the blades.

COr Bahaj has done mest wark on the Alderney site, where there are
powerful currents. The single undersea turbime farm wauld produce far more
pawer than needed for the Channel Islands and most would be fed into the
French Grd and be re-imparted into Britain via the cable under the Channel.

One tachnical difficulty is cavieation, where low pressure hehind a turning
blade causes air bubbles. These can cause vibration and damage the blades
of the turbines. Dr Baha) said: “We have to test & number of blade types to
guaid this happenng or at least make sore b does nat darmage the turbnes
o reduee perfarrmanca. Anather shght coneern s submerged detirs floating
ik the blades. So Far we do nol knowe bow imuoche af & problem ko might

be, Ve will have to make tha turbines robust because the sea is a hostile
environment, buc all the sigrs that we can do it are good.’
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Cluestions T4-17

Reading Passage 2 has six paragraphs. A-F.

Which paragraph conlains the following information?

Write the corree! felter, A=F, i hoxes T4-17 an pouwr answer sheal.

NB  You may use any lefter maore han cnee.

14
13
16
17

the location of the lirst test site
a way of bringing the power produced an ong site back into Britain
a raferance k @ previous attempl by Britain to find an allernative source of energy

mention of the possibility of applying technelegy from ancther industny

Queastions 18-22

Chaose FIVE letters, A=J.

Whle the correct feffers in boxes T8—22 on yolr answer sheet,

Which FIVE of the following claims about tidal power are made try the writer?

IO MMOO0DE

It is a more reliable source of energy than wind power.

It woould replace all clhar forms of ensrgy in Britain.

Its infreduchon has come as a resull of pubhe pressare.

It would cut down on air palukian.

It could contribute to the closure of many existing power stations in Britan.
It could be a means of increasing national income.

Il could kage a ol of resistance from ather fuel industries.

It could be sold mors cheaply than any other type of fuel.

Il could compensate for the shartage of inland sites for energy production,
ILiE best produced in the vicinity of coastines with particular features
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Questions 23-26

Label the diagram below.
Choose NO MORE THAN TWO WORDS from the passage for each answar.

Wrile vour answers in boxes 23-20 on your answar shaet.

An Undersea Turbine

Whale tower can he raisad
for 23 . ... and the extractiocn
af seaweed rom the blades

AN

Air bubbles result from Sea life nolin danger due 1o the
the 25 ... behind blades. fact that blades are comparatively
Thizsis knownas 26 ... 24 .

FAL
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READING PASSAGE 2

You showld spend about 20 minwles an Questions 27-40. which are based on Reading
Passage 3 heltw.

Miformation theory — the big liea

information theory lies at the feart of everything — from DVI} players
ared the genetic code of DNA to the pluysics of the universe at ifs most
fundamental It has been central to the developrnent of the science of
conymunication, which enabiles date to be senr electronically arud fos
therefre had a major impact o our res

A Im Apcih 2002 an event ook place which demonsirated one of the many appheations
of informatinn theary. The space probe, Voyager 1. launched in 1977, had sent back
spectacular images of Jupiter and Satwrn and then seared oot of 1he Solar System on a
pne-way mission 1o the stacs. After 25 vears of expozute to the freeng lemperauires
uf deep space, the probe was heginning 1o show itz age. Sensors and circuits were
on e brink ot [ailing and NA5A esperts realised Lhat they had to do something or
lose contacl with their probe forever. The snludion was 10 et 3 fICs54agc 10 Vovager
] 0o NSt ot 1o use spares (o change the failing parts. Wil the probe 12 billion
kilometres from Eartl. this was not an casy task. By means ol a radio dish belanging
1 WASA's Deep Space NMetwork, Lhe mezsage was sent out into 1w deplhs of space.
Even uavelling at the speed af light, it ook over 11 hours 1o reach s tacgel. Jar
bevond Lhe arkit of Ploto. Yet, incredibdy, Lhe Lliode probe managed to bear the fant
£ali froim ils home planet, and successfully made the switchover.

B [ was the longesr-distance repair job in history, and a mnnph for 1he NASA
engineers, But it also highlighted the asienishing power of the 1echnwjues develuped
by American conununications engineer Claude Shannen, who bad died jusi @ yeac
earlier. Born in 140é in Petoskey, Michigan. Shaonon showed an cacly talent for
maths and for building gadgetz, and made breaklbroughs in the Joundations of
cormputer technulogy when still a student. While at Bell Laborawories, Shannon
developed information thecey, but shunned the resuliing acclaim. Tnohe [940s,
he single-handedly created an enlire science of commurication which luas sioce
inveigled its way into a host of applications. from INMD3 (o satellite conoounicalions
o bar codes - any area, in short, where data s o be conveyed tapidly yet
accurately.
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L This all seems Lght vears away from the down-to-carth uses Shanoon oviginally
had tor biz work, which began when he was a 22-vear-old graduate enpineering
student at the presupious Massachuselts [ostitute of Technelopy 10 1939 He sel oul
witht an gpparently simple aune o pin deswn the precise oeaning of the conceps
ol tinforrmmationt’. The st asie ferm of information, Shannon argoed, s whether
snmething is true or false which can be rapiuted in the binary unit, or "hit', of the
form 1 or Q. Having identified this fundamental unit, Shannon set abour defining
ctherwize vague ideas about information and how to tranzmit it Lrom place o place.
Ly the process e discovered samething surpreising: il 1s always possible 1o Feacantes
ndonnation @il get hieoush comdom interierence - "noise’ - iNLact.

b MNorse wsually means aowanted soands which interfere with fenoime mformalion.
Information theory peneralises this wdea via weorens thal caplore 1w effecls uf
nodse wilh matheinatical precisioon. o particalar, Shaman showed 1har noise ses
a litmut on the rate a1 which information can pass along communication chaonnels
while remaining error-frec. This cate depends on the relazive strengths of the signal
and poise travelting down the communivaion channel, and en ite capacivy iz
randwidih' ), The resulting Tonct, given ur aadls ol birs per second, o Lhe absolule
maxion rale of error-freg commuonication given signal strength ad noise level, The
rick, Shonnoon shiowed, s 10 fimd wavs of packaging np - “coding' - informaton o
copie with the ravages of nmse, while staying within the information carrying capacity

“handwicdth™  af the communication system being wsed.

E  Overthe vears scwentists have devised many such coding methods. and they have
proved criuenal in many rechnological fears. The Ynyager spacecraft itansmitted
data using codes which added anc extra bit for cvery zingle bit of information; the
result was an crror rate of fuse onc bit in 10,000 - and stunningly clear pictures of
the planets, Coher codes bave hecame part of evervday Lide - such as the Universal
Product Code, or Bar code, which wses 3 sunple eooc-delecliog, syvslen hat ensures
superinarket check-oul lasers can read Lhe price even o, 53y, g crumpled bay of
CTisps. As recantly as 993, engineers made a major breakihoough by discoveriog
sn-called mrhe codes - which come very close tn Shannon's ultimate Timit for the
maxinm rate that data can be transmitted reliably, and now play a ey mole in the
maohile videophooe revolution,

F shannon also land the fonodations of mote efficient ways of stoting indormation, by
stripping mit supetihimis [Credwndant?) itz from data which coneribaeed little real
irformation. As mebile phone oxt messages like "I O C U show, it is often possible
10 leave out a lot of data withouwt [osing much medning. As with ercer Correction,
heswever, thece's 4 fumil beyend which mes2ages become loe anbapuous. Shannon
slhinwed Twew 1o caleulate this liont, openog the way 1o the desigo ol compression
methods that cramm maximuom nfermation o the minumon space.
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Chestions 27=-32

Feading Passage 3 has six paragraphs, A-F.

Which paragraph containg the follewing information?

Wite the carrect lefter, A—F, in haxes 27-32 an your answer sheel.

27
28
29
30
31
32

an explanation of the factors affecting the transmission of information
an example of how unnacessary information can be omitted

a reference o Shannon's athlude to farme

details of a machine capable of interpreting incomplete information

a detalled account of an incident involving information theory

a refargnce to what Shanncn initially intended to achieve in his reseanch

Feaading
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Questions 3337

Ceannplefe fhe nales below:

Choose NO MORE THAN TWGC WORDS from the passage for each answer

Write yowr answers i baxes 33-37 an yaur answer shgel.

74

The Voyager 1 Space Probe

The probe transmitted pictures of both 33 .. and ... . thenleft
the 34

The freczing lemperatures ware found to have a negative effect on parts of the
Space proke.

Scientists feared thatbath the 35 ... and . .... .. were aboul W stop working

The only hope was to {ell the probe to replace them with 36 ... — but distance
made communication with the probe difficult.

A3T ... .was used to transmil 1he message at the speed of light.

The message was picked up by lhe prabe and the switchover taak place.
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Ciueshions 3840

Do the following stalements agree with the information given in Reading Passage 37

frn boxes 38-40 on your answer sheet. whle

38

39

40

TRUE if the staterment agrees with the information
FALEE iT e staterrant confradicts tha informalion
NOT GIVEN i threre is no information on this

The concept of describing something as true or fatse was the starting paint for
Shannan in his altemnpts ko send messages over dislanoes.

The amount of information that can be sent in a given time period i3 delermined
with reference to the signal strength and neisa leval.

Products have now been developed which can convey more information than
Shannon had anticipated as possible.
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Listaning and Reading Answer Koys

ACADEMIC READING

Reading Passage 1, Questions 1-13 23 maintenance
24 slow (tumng)

1 VES 25 low prassure
2 NO 26 cavitation
3 YES
; ?E; GIVEN Reading Passage 3, Questions 27-40
G YES 27 O
7 NO 2 F
B YES 7 B
% H 30 E
10 F M A
1 A 1
12 C 33 INEITHER ORDER; BOTH REQLIRED
13 B FOR ONE MARK
Jupiter

Reading Passage 2, Quesfions 14-26 Satuen

34 Solar System

14 C 35 N EITHER ORDER; BOTH REQUIRED
15 E FOR ONE MARK
jlg g EENSOrS
circuils
18-22 IN ANY ORDER 36 spares
A 37 radio desh
D 38 TRUE
E 33 TRUE
5 40 FALSE
If you score. ..
=12 13-29 3044
Yyou are unlikely la get an you may get an acceptable vou are likely to gelan
actaplabla score undar sLore under examination acceplable score under
examination conditiohs and cohditionz but wa recammend axaminatipn condilions but
we recommend that vou spend | that you think about having remambeae that diferant
a Ipt pf lime improving your mare practice or lessons institutions will find differznt
£nglish bafera wou take [ELTS. | Delon wou take IELTS. soores acceptable
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